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L. (a)

(b)

(c)

2. (A)
DC-110

What is me; . . . _
ant by Cost Accounting ? Discuss the objectives of Cost Accounting, 7

OR
Define different methods of costing and discuss any one.  GujaratStudy.com 4

Write Short notes on following (any twe)

(1) Marginal costing

(2)  Elements of costs

(3)  Cost center

(4)  Fixed expensc and variable expense

Give the proper cost unit of the following industries. 3

(1) Railway b

(2) Chemical

(3) Paper mill

(4) Brick manufacturing

(5) Hotel A
(6) Textile o

F the following information calculate (1) Economic order quantity &
(;f%rdeﬁng 0leSf:i (!3:;) Minimum level (4) Maximum level (5) Average level ] g}

anger level

(( !6; Ddfil;l55 :nron:rh!y consumption 7500 units %*-
(2) Cost per unit 2 100 &
(3) Cost of placing an order 3 5!}00 o
(4) Storage carrying charges 25% z
(5) Maximum time to get matt.a!'lals A5 days

(6) Average time to get materials 35 days

(7) Maximum time for immecljatgpurchase 5 days ‘

(8) Maximum daily consumption 120 units
(9) Minimum daily consumption 80 units

OR .
' 2 ver ke in the beginning of September,
Ajit Ltd. had a stock of 15,000 _kg,s at T 2 per kg ndf-
ade during the month were as u .
2017. Other purchases m
g tc.mbcr 6 4.500 kgs at % 2.50 per kg
Scptembcr 12 5,500 kgs at ¥ 3.00 per kg
Ssgtcmbcr 19 12000 kgs at T 3.50 per kg
Issues for production WEre a; Surg)({i]%rk .
&
September 14 , |
10,000 kgs o stack
Seplember 26 . LIFO Method what would be the value of closing
[f the issues are priced on i,T .
of month ? P.T.O.

at the end 5
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(B)  Explain the difVerence e C e )
I he difference between Periodical inventory and Perpetual Inventory of material. 4

OR

L I een FIFO Methad and LIFO Method.

i nformation find out material turnover rate : 3
T 1,20,000

T 44,000

Explain the dillerence herw

Opening Stock

Closing Stock

l“urchnsc ol materialy ¥ 3,95,000

Generally stock are valued at cost price plus 20%.
OR

Explain Weighted Average Method,

(A) On 31 Murch, 2017 following information was obtained from the books of a

company. From this information find out the amount of net wages payable in cash
and also find out the cost of monthly wages.

(1) Busic Pay T 1,00,000
(2 Dearness allowanee 50":’0 of basic pay
(3)  Nightshif allowance T 12,000
() Overtime allowange ? 7‘('1‘0{)0
{(5) rovident und deposite 1 fi . i 16,
(6) ES)a 4o deposited for the period T 16,000
contribution for the e
7) ere s thon 1¢ period T 10,000
{ ccovery of siafy quarters k4
(8) Rccovcry towards suppl , fo fed 12.000
(9)  Expenses on amenitioe o conrovisions 3 oo
P lenities to employees T 6,000

Provident fund is paid in equal shar¢ by the employer and the employees. The

contribution to ESI is in proportion of 3:2 by the émployer and the employees

respectively,
OR

Following particulars has been obtained of March-2017 from the labour department
of Riddhi Manufacturing Company. Find out the labour tumnover rate and the

equivalent tumover rate according to Separation method and Replacement method.

Workers as on 1-3-2017 6360

Workers as on 31-3-2017 5640
During the month of March, 2017

No. of workers discharged 900

No. of workers retired 1140

No. of workers resigned 560,

No. of workers newly appointed 1000 _
(of which 40% workers were taken under expansion plan)

(B) Write short notes on (any two)

(C)

C-110

(a) Time wage system
(b) Piece wage system
(c) Halsey premium plan
(d) Rowan premium plan

’ takes 9 hours to complete the job on daily wages and 8 hours on a
iﬁ;gg l(?ta gayment by results. His day rate is ¥ 25 per hour. Calculate the wages

payable to worker on (1) Time basis and (2) Piece basis.
OR

A workman allowed 72 hours to complete a job on daily time wages and he
complete the job in actual 48 hours. His time wages is % 15 per hour. Calculate
the wages payable to worker on (1) Halsey Premium Plan and (2) Rowan

Premium plan.
6
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In a factory the

|
e are three
departments D & g . Production g, a
| E. The details of the expens?:sr:lrﬁﬁih?ar; 3‘(‘)‘:?(3 and two service
Indirect wages R ' ¢ as under 14
Insurance 7,800
Canteen expengeg 19,800

Lighting 36,000
Rent and rateg 12,000
Contributioy to ES} 30,000

Deprcciation 3,900

Power 99,000
Factory Manager’s salary 13‘;‘?}2?)

Other Information :

Particulars

Direct Wa s - 27,000 | 24,000 | 17.400 7200 | 2,400
Cost of Machine ) 4,32,000 | 2,88,000 | 2 16,000 | 7,200 ‘
Horse power of machine & | s T > — 1200
Space occupied (sq. feet) __E(h}o_____f_ﬁﬁ__ 500 350 "aﬂ
Proportion of time devoted 5 4 3 2 B\

by factory manager

[Number of workers 5 6 CO W T N
The benefit of service departments D and E is derived by the other departments in the
following proportion:

Particulars A|B[CID[E]

Department D {20% [30% [40% | — 110% |

Department E  [30% [40% [30% | — —_1

Prepare (1) Distribution of overheads to various dep
expenses of service department to production departm

OR
Production is carried out by four identical machines
of the factory are as under :

artments and (2) Distribution of
ents.

in a factory. The annual expenses

3
(1) Rent and rates - yearly . ' 60,000
(2) Annual consumption of power at the rate of 10 paisa per unit 48,000
(3) Repairs and maintenance of machines - annual t;ggg
ighting for the factory - yearly _ .
:‘51; [S-;?ary c,):f two workers looking after the machines - monthly per worker lg%
(6) Supervisor’s salary - mc!mthly 1:000
(7) Sundry materials - yearly . 0
(8) Depreciation of each machine - monthly

1 i ing Interest ¥ 3000) 12,000

' i f machines - yearly (including

9) Hire purchase instalment o :  Ine
:lzl) CLnsEmption of power is 10 units per hour forhszacl:]gmua;cr ;:1:
From the above information calculate the machine

7
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5. In the followi,
o '8 sub-questions more th; .
answer is correct, Select the corect ':‘v than one answer s given, of which only one
noe, (any seven) : answer supported by necessary explunulionfwnrking
( Which one of the ¢ .
. arcrrals P . .
(©)  Salesman® o (b)  Administrative Staff Salary
N n’s Commission
(2) Telephone bijj i included in whic (d) Interest on Bank Loan
in whic .
(a)  Fixed expenses 'eh ofthe ﬁllll'l“’lllg.explt*nses ’
(©)  Variable expenses (b)  Semi-variable expenses
3) Following inf e _ €~ Nonc of the above
B g Information is carried out from the record of ; :
; Stock % 20,000, p ol _ record of a company. Opening
« urchases  65,000. €| ;
Calculate stock turno T asing Stock 10,00,
VEr rate,
(@) 1 time b .
(¢} 5times ®), ,35211?68
Most profitable quantity of 72 times
quantity of ‘hase i ¢
(a) Maximun, qu-ln[if purchase is called -
antity )  Mini anti
(c) Average quantity nimum quantity
& In which method stock is val (ﬂ.,) Economic ordering quantity
market price 9 alued at a price which is almost nearer to current
(@)  Fixed price method
(©) LIFO © :l? Weighted average method
. ) FIFO
(6)  Wages for actual time taken + 50% i
‘ _ o X (Wages of time saved). Out :
n which system the amount of wages is calculated ? - Outotihe following
(@)  Taylor's plan AbB)  Rowan Plan
; E:;)| . hHaIsey plan ‘ : (d) Piece rate system
,l/)” v ::,m\.;'agc system 1s proper where speed of the work depends on machine not
(® Picce wage system (b)  Time wage system
(¢) Co-partnership (d)  Halsey wage system
\/8)/ If a machine costs < 84,000, its scrap value is ¥ 12,000 and its useful life is 6
years then what will be the depreciation ?
) T 12,000 (b) T 14,000
(¢) ¥16,000 (d) 10,000
{P) If prime cost is ?: 25,000 and factory overheads are ¥ 5,000 then what will be
f percentage of factory overheads on prime costs ?
(a) 20% . (b) 25%
(c) 15% Jd)  30%
\f )) The canteen expense incurred by a factory is apportioned in the ratio of-
. (a) Direct wages
(b) The number of employces ineach department
(¢) Equally
(d) None of the above
DC-110 8
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